COMMON ENTRANCE TEST - 2017
DATE SUBJECT TIME

03-05-2017 CHEMISTRY 2.30 pm to 3.50 pm

MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING

60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :

]

Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.

2. This question booklet is issued to you by the invigilator after the 2" bell i.e., after 2.30 pm.

The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4. Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

1

DONTs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3"9 Bell rings at 2.40 pm, till then;
® Do not remove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

—

This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3 Bell is rung at 2.40 pm, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

During the subsequent 70 minutes :

lrd

e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

4.  Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 3.50 pm, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

7. Hand over the OMR Answer Sheet to the room invigilator as 1t is.

8.  After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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[y

If3.01 x 10°° molecules are removed from
98 mg of H,SO,, then number of moles of
H,SO, left are

(A) 0.1 %103 mol B) 0.5 %103 mol

O 166x103mol M) 995x102mol

Cuestion id: 1

The correct set of quantum number for the
unpaired electrons of chlorine atom 1s

A 1 B 1
&) 2,0,0,+— o 2.1,-1 4=
2 2
1 D 1
© 3,1,1,¢§ ©) 3,0,0,:&5

Cuestion id ;2

The electronegativities of C, N, Si1 and P are in
the order of
(A)P<S1<C<N

(O Si<P<C<N

B) SI<P<N<C
M P<Si<N<C

Cuestion id: 3

Which of the following structure of a molecule
1s expected to have three bond pairs and one
lone pair of electrons ?
(A) Tetrahedral

(O) Pyramidal

(B) Trigonal Planar
(D) Octahedral

CQuesfion id - 4

Which of the following 1s the correct electron
dot structure of N, 0O molecule ?

(A) (B)

N=N=0: N=N-0:

() I 2 (D)

N=N=0Q N -N=0:

Quesfionid: 5

98 0o 0 H,S0, o 3.01 x 107 weaonvsy
THELFATN  LUPOIT  FLOF ST KTN
TR NTY,

(A) 0.1x1072HReF  (B) (.5 x 1073 Hpee

© 1.66x 107232 (D) 995« 102 Feeef

Cuestion kd: 1

BREOT®T  TORREVNBYTOT f:ﬁcdm@ eiE ﬁa‘
2l 0L :Soa%mfa B4 DeECIRNTOBT
A 1 B 1
) 2,0,0,4+— = A B W

2 2

1 D 1
© 3.1.1. % = ®) 3,0,0, -

2 2

Cuestion id: 2

C, N, Siad Pn¢ @mﬁddséfcdﬁoiw 23
3,300 TIT

A)P<Si<C<N
(C)Si{P«:C{N

B)Si<P<N<C
D) P<Si<N<C

Cuestion bd: 3

& FPFOR TWINYSY, oINTYTO R wo;ﬁﬁr@
T 20T e;s'odas@ N@LD, g}mnv@t
BRODTWITOTI E:\@rsimaa.
(A) w@%@@f (23300 =D CW)
(B) &,,NRCTC’ FEToT® (FROZLOL &,10%)
(C) XTRVBS® (L0283 2)
(D) &Egdﬁﬂz:{,eﬁ {Eﬁﬁw Eﬁ:ﬁ%é}

Cuestion kd -4
B3 FPBORPNTYY CIRFTO  N,0 B FOOTRT QTF gpﬁ
zﬁaﬁﬁ 02370 BRT,TNG

(A) (B)

N=N=0: N

I:I—:Q:_

© NNt ® N_-N-b&

Questionld: 5
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6.

The pressure of real gases is less than that of
1deal gas because of
(A) Intermolecular attraction

(B) Finite size of particles
(O) Increase in the number of collisions

(D) Increase 1n the kinetic energy of the
molecules

Cuestion Id : 6

A reaction has both AH and AS -ve. The rate

of reaction
(A) increases with increase in temperature

(B) increases with decrease in temperature

(©) remains
temperature

unaffected by change 1n

(D) cannot be predicted for change in
temperature

CQuestionid: 7

The equilibrium constant for the reaction
4 Xx10™* at

In presence of a catalyst the

Ny + 02 = 2NO(y 18
2000 K.

equilibrium is attained ten times faster.
Therefore the equilibrium constant in presence

of catalyst of 2000 K is
(A) 40 x 107 B) 4 x 1072
© 4 x 1073 D) 4 x 10™*

Cuesiion id: 8
'Q.’ is useful in
predicting the direction of the reaction. Which
of the following 1s incorrect ?

(A) IfQ. > K, the reverse reaction is

The reaction quotient

favoured

B) IfQ. < K, the forward reaction is
favoured

O If Q.= K., no reaction occur

D) If Q.> K, forward reaction is favoured

Cuestion id: 9

WOTW  LRONY LIWY CTWIT CONT wITBI0P
FRRWO0IRNTLD F2TED
(A) ©50BTREIT A (B) TEANY TOWT Mo,

(C) PRFTNY 083,00 T3¢
bl d
(D) 0N WOT FIODYT TYF

Cuestion id : 6

20T 000009, AH @03 AS 20megsmencon

T §, 03N

(A) YUT B T30 T ROTYO

(B) Eﬂ.,ﬁrj@ FRTOCINTIOS é&i‘%ﬁ&@tﬁ&

©) mﬁp@oﬁa azsmﬁ?—ﬁ ORI mmmamq V0D
SRBDPO,

(D) em"**éod:a
o0, mm@j@@

wﬂmﬂmow QAPFORED

Questionid: 7

2000K o8, Ny + 05¢9 = 2NO(y 805008

HEZ’ADN@ ﬁamoﬁ'@j 4 X 107* esndhmnmo.
3, odrﬁa‘rﬁaim evEcdnenTIN TR0NT
ru&'ibw@CdJ'ﬂJ 533 wE&J Seneson  BRO{TT,

%Wﬁﬁ?ﬁﬁm%ﬂﬁﬁmﬁ 2 3,000 TRODAT
SEMSEIlevy ﬂmOﬁ@

(A) 40 x 10 (B) 4 x 1072

© 4 x10° D) 4 x 107

CQuestionid: 8
CRORRE §,0800% QERY §,0dm geriew) Q. con
NPT OIWDBITY. TLPTOB O Hoi%ojw Emwﬁci’ ?
A Q.” K St inle] Enm&a} 3,030 SO0
c c «

®) Q. K. SNTT T0TND 3,05 BT
© Q. K, $NET odnsgde 8,0h SEI0FOL,
@) Q> KNGS I0ma 808 SrehoRm

Cuestion ld: 9
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10.

11

12.

13.

3CIOan) — (ClO™ + 2Cl™ is an example of

(A) Oxidation reaction (B) Reduction reaction
(C) Disproportionation reaction

(D) Decomposition reaction

Cuestion Id ;10

In the manufacture of hydrogen from water gas
(CO + H,), which of the following is correct

statement ?
(A) CO 1s oxidized to Co, with steam in the

presence of a
absorption of CO,

catalyst
in alkali.

followed by

(B) CO and
difference 1n their densities.
(O) Hydrogen is 1solated by diffusion.

(D) H, is removed by occlusion with pd.

H, are separated based on

Plaster of Paris is represented as
(A) caso,--H,0 ® CaS0, -H,0
2

(©) CaS0,-2H,0 () (CaSo,

Question id: 12

Addition of mineral acid to an aqueous
solution of Borax, the following compound 1s
formed

(A) Boron hydride

(C) Meta boric acid

(B) Orthoboric acid
(D) Pyroboric acid

Cuestion Id ;13

10.

Ll ¥

12.

13.

3C10p,,, —>

QVTIRBOTBOIRNT ?
(A) YUZTF 3 8,00 (B) &TBRF2 8,00

(C) LR BCIAT Iw 3,00
(D) VT 3,00

ClO™ + 2C1~ o3»s 0%

Question bkd: 10
SpINS (CO+ H,) 0o ZrRxIN

wmﬁmomﬁ 3 FPBOR oI mésjém
Soﬁmm@m‘?

(A) BOSRIFFT ITODOOT TIod  CO I
SPUIAF A GVOLDT Co, BT, TN T, St TORTT.

@) C O3 H, nYzy, oPYnyd Tos,3eNYS
,T,AT STOROT T,Z, CETWIOT

(C) TTR, CWITO, WRTED 8,030000T F,Z, CETWIOT

D) H, S, pd 0309, BAVTITHINRTAOT WAV
T8, CETWIOTO

Question kd: 11

3, 0% TS SE0RRE,

-ino ®B) CaS0, -H,0
2

TRIT* ST
(A) caso,

© CaSO,-2H,0 (D CaSo,

Questionid: 12

m\mﬁfzd 2o mwmﬁ SDVTIDTNF/T, XedATN
UOETTOR X AOOI0TR)
(A) BRI BT, T

(C) Rot-23Re0T &)

(B) LTReF LIReDdT &)
(D) wtﬂ“eme@ﬁ‘ Sne)

Cuestion kd: 13
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14.

15.

16.

17.

18.

Identify the correct statement in the following :

(A) n-butane and 1isobutane are functional
1SOMeErs

(B) Dimethyl ether and ethanol are chain
1somers

(O) Propan-1-ol and propan-2-ol are position
1somers

(D) Ethanoic acid and methyl methanoate are
position isomers

Cuestion Id ;14

In which of the following, homolytic bond
fission takes place ?
(A) Alkaline hydrolysis of ethyl chloride

(B) Addition of HBr to double bond
(O) Free radical chlorination of methane

(D) Nitration of Benzene

CQuestion id: 15

For the preparation of Alkanes, aqueous
solution of sodium or potassium salt of
carboxylic acid is subjected to

(A) Hydrolysis (B) Oxidation

(O) Hydrogenation (D) Electrolysis

CQuestion id: 16

Which one of the following is not a common
component of photo-chemical smog ?
(A) Ozone (B) Acrolein

(O) Peroxy acetyl nitrate

(D) Chloro flouro carbons

CQuestion i : 17

Which of the following crystal has unit cell
suchthat a # b #canda # B #y #90°?

(A) K,Cr,0, (B) NaNO,

(© KNO, @) K,S0,

Question id: 18

14.

15.

16.

17.

18.

BOOIRT 339,83, 00 MOTOER.
(A) N—20R LT’ TVBY DRE - WR, WXV NOFOZT
ATIONNED

(B) TOFS JPO W) PN RO
psneplelatatss)

(C) TReTe'-1-0l B Fp,een’ -2-0l 7L WI
WIONNMEO

(D) SFIROWT ), B WFS* WTFedpeodes
N$0 AT ABIRONMED

S0 IS &0boe) RO CUOPTORE 7
(A) S9G,T° BRLT R T, 00 WOIRS

(B) Q20058 HBr & ewsr &3

(C) TOOT T, @IS DOTI S0FFERT BRLOVETTED

(D) IOLIET 3,809

CQuestion id: 15

SOINY FOROTONY,  TWRFILF EIT
RRCBONC T TPERSCV0 O[T wOOD
T3, SIERTJI, RRYRIT.

(B) EFJEiﬁF'E‘a
(C) TTR,CWIETTED
(D) @Cbﬁtjﬁ IR [@Cﬁ&,i‘%ﬁfﬁi‘a}

5 [
Question id : 16

VRNTY, CINFT TS - TIODAT TR0

(Photo  Chemical Smog) T wOT TR,
PeITNC_?
(A) WineT® (B) 80,7

(C) WOB LA FEd et
(D) BRETRE FRTRE TOWF D,

Question bd: 17

3PB0R OIRT REIeFT PLT Fedy B wvSoDdY
TeodW.a # b eI a # B £y #90°

(A) K,Cr,0, (B) NaNO,

© KNO, (D) K,S0,

Question kd: 18
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19.

20.

21

22.

The correct statement regarding defect in

solids 1s

(A) Frenkel defect 1s usually favoured by a very
small difference in the sizes of cations and
anions.

(B) Frenkel defect 1s a dislocation defect.

(O) Trapping of proton in the lattice leads to
the formation of F-centers.

(D) Schottky defect has no effect on the
physical properties of solids.

CQuestion Id: 19
In a face centred cubic arrangement of A and B
atoms 1n which ‘A’ atoms are at the corners of
the unit cell and ‘B’ atoms are at the face
centers. One of the ‘A’ atom is missing from
one corner in unit cell. The simplest formula of
compound is

(A) A,B,, ®) A,B,

(©) AB, @) A,B,

Cuestion Id : 20

Which of the following aqueous solution has
highest freezing point ?
(A) 0.1 molal AL, (SO

4)3

(B) 0.1 molal BaCl,

(O 0.1 molal AICI; ) 0.1 molal NH,CI

Question Id : 21

The Vant Hoff’s factor ‘1’ accounts for
(A) extent of solubility of solute

(B) extent of dissociation of solute
(O) extent of dissolution of solute
(D) extent of mobility of solute

Question Id : 22

19.

20.

2l

22.

PINY [RTIN TOWOPTEI0Z 0T 339,83, 050

ROOTPNT ?

(A) T,EFS0NT® TR &,THOWRT* 1¥ T8,TQ, 58
A€ 3 T WM 03¢ TR, T GVOETMOITYTO

(B) F)05¢° 53,5303 WADIETTE SR, DSCIRNT

(C) TR, CERITL WPOTTY WolFVERN F 50T, s
YVOERNOTT

(D) TY, TR,TT PITRONT 4P TOLTHNY e
Qifa@a’e aﬁamaﬁxﬁ 083D w:sss:;j@@

Cuestion id: 19

A 203 B wdammmfa‘a TROQTVT W0VFC0R),3
PIT, aojaef} A To=Re0NRY DRSNEHYCI0 B
am»sa meﬁﬁxccﬁ ]Ifoveblialobrcin e.gé,aﬁ 3RST
WOT RN ﬁz‘a@ m&mm" B3 TOCTNBT LT
AR,

A) A,B,, (B) A.B,

© AB, (D) A,B,

Question id : 20

S8 TFTOT 0000 w0 o, WY B TUF F
WOTD BT ?

(A) 0.1 RRCCTOCF Al (SO

CFOLD

4)3

B) 0.1 SRCCTOS® Baczz

(©) 0.1 IO SD 9 AICIE

(D) 0.1 SRCCTOS® NH4CI

CQuestion id: 21
339, 03° — o MOFBo0T ‘i cﬁﬁ& :dcuoqﬁﬁé,gdc?
{A) T, 3 T WTe0ZON T,

(B) T8 NIWSOD T, [WRED
(C) TRT VOeTZD T70eD
(D) T3,V ROTSLIOD T)TED

Question id : 22
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23. When the pure solvent diffuses out of the
solution  through the semi-permeable

membrane then the process is called
(A) Osmosis (B) Reverse osmosis
(O) Sorption (D) Dialysis

The standard reduction potential at 298 K for
the following half cell reaction

Zn(aq) +2e —> Zn(s) E° =- 0.762V

Crie + 3e— Crg) E° = 0.740V
2H} +2e —>Hy E° = 0.0V

24.

Fo@ + 2¢ —> 2F; E° = 287V

Which of the following is strongest reducing
agent ?

(A) Zn(sj (B) CI'(S}

© H,g @) Fyqy

NaClO; 1s
NaClO, according to the

25. By passing electric current,

converted 1nto
following equation
NaClO; + H,0 —— NaClO, + H,

How many moles of NaClO, will be formed

when three Faradays of charge 1s passed
through NaClO, ?

(A) 0.75
© 15

B) 1.0
M 3.0

Cuestion Id : 25

23.

24.

25.

T39,33600T3 5355 739, 6D afaemc' (Semipermeable
membrane} TROB ToSITED momd 3, CdJ&iJEo‘u
éoeﬁm =3

(A) ﬁtmﬁtﬁm 3,03 (B) Q00T TODITED 3,00

(C) BReRD (D) TOONROT

CQuestion id: 23

298 K 39, 39503 wprdneg 8,00nd 5% wwsRs
SQIRNGO &N

Zn(aq} + 2e —> Zn(S; E° =-0.762V
Crigy + 3e—> Crg) E° = 0.740V
21-1(”‘;,51J +2¢e —> Hy E° = 0.0V

Fz(g) + 2Ze _}ZFanJ E° = 287V
TRINTE) TR B8 T, WO WTIRF L9T00TNG ?
(A) Zn(s) (B) CI‘(S)

Cuestion id: 24

DE,IRY TIOWH B3 FTBOR TRODIB 8,0300003
NaClO; 3 NaClO, odnh TORSFRWIBIT.

ol
NaClO; + H,0 —— NaClO4 + H,
R FR,OBODT), I NaClO; =owews
TooAmen AN NaCl0, © E,=06, Keed® NYY

(B) 1.0
(D) 3.0

Question kd: 25
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26.

27

28.

In the electrolysis of aqueous sodium chloride
solution, which of the half cell reaction will
occur at anode ?

(A) Nai;q) + e-— Nagy

E% = —2.71volts
B) 2H,0p — 0, + 4H*+ 4e”
E . = 1.23volts

cell —
()] H{-:lq) + e —— %HE

E ., = 0.00volts

cell
(D) Cly — i Cl, + e

E ., = 1.36volts

cell

Cuestion Id : 26

Which of the following statement 1s in

accordance with the Arrhenius equation ?

(A) Rate of a reaction increases with increase
in temperature

(B) Rate of a reaction increases with decrease
1n activation energy

(O) Rate constant decreases exponentially with
increase in temperature

(D) Rate of reaction does not change with
Increase 1n activation energy

Cuestion i 27

Which of the following statement is incorrect ?
(A) The rate law for any reaction cannot be
determined experimentally

(B) Complex reactions have fractional order.

(O) Biomolecular reactions involve

simultaneous collision between two species

(D) Molecularity 1s

elementary reaction.

only applicable for

Cuestion Id : 28

26.

27.

28.

ApeRODO  BREGW  mwOead ,TWEIDIY
DT, DWRBRRTTRAITN S ERFRY,  IWOXIT
WIFBRCT 3,00

(A) Naf,) + e —>Nag) E® = —2.71

S 0 ETE
@BG@MH

{C) H(-;q} + e —— %HZ

E° . = 0.00%%,,

cell —
(D) Clgg — i Cl, + e

E . = 1.36%R¢,

cell

CQuestion id : 26

OIR®w FFTOT mﬁaj;oi;; BT AODTS ﬁmeﬁdmﬁt

LTINS 2

(A) YVHIODNDZ) TWHWoN THIODAT 300N
ﬁz&:gb@cﬁa

(B) TOFOLD JIOX0 FRIOINTOZ 3, 03ESenzy)
THUHOTYTO

©) ﬁmﬁmé E‘mzpog BN 3,0300F5y) WOFFoSeoTN
FREOOINNOTI

(D) Te0BOL TIOID  RRODFOTO  THODIB
8,00nwena  Woed OXRFTE  TOTIWIWR), 080
RRERY,

Question id : 27

3 FYFOTBRNTEY_ CInT masja BT NTOFZTO ?

(A) TeNNS VoPTVTTZY, oIRFTe T, 0ILENNPOT
FORD LRV,

(B) Roderar 3,000 €088 SN 3,00nvonsd

©) Cjﬁoinséj @oﬁaoﬁa@m QRTT FEANY DWW ADTOT
mﬁa&uﬁﬁ%ﬂa WO

33000 T, TA0B

) g,o0onen
ﬁ;s?gz OI0TTONIRYT

(D) SR,

Cuestion id: 28
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29.

30.

31.

32.

33.

For a reaction %A—:» 2B rate of

disappearance of A 1is related to rate of
appearance of B by the expression

) -d[A]  d[B] ® -d[A] 1 d[B]
at dt dt 4 dt

© -d[A] 1d[B] ® -d[A] d[B]
dt 2 dt dt  dt

Cuestion Id ;29

The process which 1s responsible for the
formation of delta at a place where rivers
meets the sea 1s

(A) Coagulation

(C) Emulsification

(B) Colloid formation
(D) Peptization

Hydrogenation of vegetable oils in presence of
finely divided Nickel as catalyst. The reaction
18

(A) Heterogeneous catalysis

(B) Homogeneous catalysis

(O) Enzyme catalysed reaction

(D) Liquid catalysed reaction
CQuestion ki 31

Which of the following 1s not a favourable
condition for physical adsorption ?
(A) High temperature  (B) High pressure

(C) Higher critical temperature of adsorbate
(D) Low temperature

Cuestion Id : 32

The metal extracted by leaching with a cyanide
1S

(A) Al (B) Ag
(O) Cu (D) Na
Extraction of chlorine from brine solution is

based on
(A) Oxidation

(O) Reduction

(B) Chlorination
(D) Acidification

Cuestion Id : 34

29.

30.

31.

32.

33.

% A——> 2B SRODIE §,030H8), A 0D FTZC3D

FRZWOOIRMINEOI0 B HoTE0 3w ﬁ@ﬁo&mo@ﬁ =t
ROCTTLIR0T ROWOLRWTOTI

A) -d[A]  d[B] ® -d[A] 1 d[B]
ac dt dt 4 dt

© -d[A] 1d[B] ® -d[A] d[B]
it 2 dt dt  dt

Cuestion kd : 29

SQNEL AT, W3, AETOTE, YLOERNIT BLRNEN &3
8,030 FToTERNG.
(A) NOBREIRODT

(©) @mfﬁ?ﬁo’m

(B) TOC® &00ETNINE
(D) ﬁ%ﬁdf‘s}

Question id : 30

FRET, GONYI) FOENTNT PRULTTYIOH I
IENTTFE  ITORN0T  FER, CWICTORIIYTD. 53
BYFOT 3,037 20T YVTTHTTH

(A) 98O 3,03NTJTES

(B) R0 3,000RTF S

(C) 3ENTIRFNROT 8,0300WTF S

(D) B,[ORTE §,0000R3F S

Cuestion kd : 31

23088 LDINRCRBN T8 FTYTOR OTRT AWOTIHOIN
BROTLFINTOROY ?

(A) DB TITI (B) DU w3
©) Eﬂ@a’@fﬁﬂ@ ﬁz&ﬁ ﬁc&rjp SoTRRw
BRCOTOTTID
(D) 3B STTRT
Question Id : 32

CINT CREIZ), AFT T, UTROT AHSLOT
wcgpcﬁﬁ NRYXOZAT

(A) Al (B) Ag
(O Cu (D) Na

Question id : 33
WS DT BRLOITW  ZOTTROROLTOIN
GVOEIMORFTC &,3,03030 SHOXT.

(A) YUSHF €D (B) 3R£02eTTLD

(C) BTERFED (D) BRTTD

Cuestion id; 34
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35.

36.

37.

38.

39.

Which of the following element forms p_ -p,

bond with itself ?
(A) N

© Se

(B) P
(D) Te

CQuestion kd : 35

Which one of the following metallic oxide

exhibit amphoteric nature ?
(A) Ca0 (B) Na,O
(© BaO (D) AL 0,

Cuestion Id : 36

Select wrong chemical reaction among the
following :

(A)MnO, + 4HCl —>
Cl, + 2H,0

MnCl,+

(B) 8NH; + 3Cl,—— 6NH,ClI +N,
(© 2NaOH+ Cl,— 2NaCl+ H,+ 0,

(D)2Ca(0H), +
CaCl, + 2H,0

2Cl,,—> Ca(OCl), +

CQuestion i : 37

Which one of the following noble gas has an
unusual property of diffusing through the
materials such as rubber, glass or plastic ?

(A) Ne (B) Ar

(O) Kr (D) He

Question Id : 38

The magnetic nature of elements depends on
the presence of unpaired electrons. Identify the
configuration of transition elements which
shows highest magnetic moment ?

(A) 34”7 (B) 34°

© 34d° (D) 3d?

Cuestion Id : 389

35.

36.

37.

38.

39.

T3 FYTOR OINW ToB0wS JWTRPENTD 353@1#?
Py~ Py WOTTTO, TROTWYRY) ?

(a)N B) P

(C) Se (D) Te

Question id: 35

85 FYFOTINYY, CINTW CRtmn ©E T SERFTT
OB TR, TByWEFROET 2

(A) Ca0
© BaO

(B) Na,O
(D) AlL,0,

Cuestion kd ; 36

FENTINGD, ZeONTO  TRRCI0IT r_?:JCdJCC’DEJ’%

moTSA.
(AMnO, + 4HCI — MnCl,* Cl, + 2H,0

®) 8NH, + 3Cl,—> 6NH,Cl +N,
(© 2NaOH+ ClL,—> 2NaCl + H, + O,

D)2Ca(0H), +
CaCl, + 2H,0

2Cl,—>  Ca(0Cl),

Cuestion kd ; 37

OwW T~ TRE° C7w0 TRAFTROSH JANT [ROT

WRTBY BROTONOSD E:BRME% e:ﬁm msﬁsﬁgﬂ
TRODTT J,¢x AW

(A) Ne (B) Ar

© Kr (D) He

Cuestion kd: 38

DodoNy To03CW @ﬁz‘ﬂri@;a VRNTQTOR wo&ﬁ
RSTD gpe D&j odzm LOROOWAT. B3 TFND odrw
X03,:069 mm u::]rum wp‘ D NQ) 93 @ff L plefclove
239,30,8 TRoQT

(A) 3d7 (B) 3d°
© 3d° (D) 3d?

Question id: 39
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40.

41.

42.

43.

Which of the following statement is wrong

regarding Lanthanoids ?

(A)  Ln(III) compounds
colourless.

are  generally

(B) Ln(IIT) compounds are predominantly 1onic
in character.

(O) The 1onic size of Ln(III) ions decreases
with increasing atomic number.

(D) Ln(ITI) hydroxides are mainly basic in
nature.

Cuestion Id : 40

Square planar complex of the type Myp

(where A, B, X and L are unidentate ligands)
shows following set of 1somers
(A) Two cis and one trans

(B) Two trans and one cis
(C) Two cis and two trans

(D) Three cis and one trans
Cuesfion id : 41

According to crystal field theory, the M - L
bond in a complex 1s
(A) purely 1onic (B) purely covalent

(O) purely co-ordinate (D) partially covalent

Cuestion Id ; 42

The co-ordination number and the oxidation
state of the eclement ‘M’ in the complex

[M(en), (C,0,)] NO, {where (en) is ethan-1,
2 — diamine} are respectively

(A) 6 and 3 (B) 6 and 2
(C) 4 and 2 (D) 4 and 3

Question id 43

40.

41.

42.

43.

@aﬁocsagwri@ﬁ r\;ou-o;::‘zu‘&%oé T8 FIFOR® OIRW

mjaj;odw BROMOETINTOH L), [3@2) ?

(A) @RI woNLn (1) FooXOFND  edsd
BROQTOROL

B) Ln(III) Moosnsnsd ézaawﬁ ESO0RVT @iﬁ‘amfa‘%
RROQTOZR

() FRRT,wNLn (1) SCRINY Lol Su R
TTRIE R0&T, é@d T308 TRWOOTTMORTO

(D) Ln(ID) BT WSO TN T 000D OTLNTS)
Goiolelaln

Question kd : 40
Maxpy RRTO0D IWoBL BPF Rodeearsy S
gINS0Z AJRONMYRY, BeodT (A, B, X @I L
QB0 @fmﬁczsﬁ NYoN)
(A) RTT AT T2 L.0TD €32, °
(B) STT 850,8° 20D WO AFF
(C) TR AT T3 TR 83,3
(D) SORTO AT T WOTD €39,
CQuestion id : 41
Je3es FeZ, ATOBTION Aoderdr WY M - L
WD) '
(A) ROTREF BOIRT
(B) ROTREDF ﬁﬁdeaﬁ’@d o
(C) ROTREIF ATIJWe  (P) &Te ITTZeS 0D
Cuestion id ; 42
[M(en), (C,04)] NO, 02 medeear ) M 02
PORNT  AIOTOWe  FoS, WoB) YIRF A8
8,300 [en = SHFea-1, 2-FEROT]
(A) 6 OB 3 (B) 6 &2
((j)4$33§2 (D)453333

Cuestion id: 43
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44. Toluene reacts with halogen in presence of

45,

46.

47.

Iron (IIT) chloride giving ortho and para halo
compounds. The reaction is

(A) Electrophilic elimination reaction
(B) Electrophilic substitution reaction
(O) Free radical addition reaction

(D) Nucleophilic substitution reaction

Question Id : 44

In the following sequence of reactions

KCN |, H:O

L
.

The end product C 1s
(A) Acetone

(O) Acetaldehyde

(B) Methane
(D) Ethyl Alcohol

Cuestion Id : 45

Which of the following order i1s true regarding
the acidic nature of phenol ?

(A) Phenol > O-cresol > O-nitrophenol
(B) O-cresol < phenol < O-nitrophenol
(O) phenol < O-cresol > O-nitrophenol
(D) phenol < O-cresol < O-nitrophenol

Question id : 46

Which of the following reagent cannot be used
to oxidize primary alcohols to aldehydes ?
(A) Cr0O, in anhydrous medium

(B) KMnO, in acidic medium

(O) Pyridinium chloro chromate
(D) Heating in presence of Cu at 573 K

Cuestion Id : 47

44,

45.

46.

47.

B D () BRTTEE  LVTREONY, W
30, CRERITRRODN B[EFA  wEiRer WBY W,
553, e AOOTFIT, 0t WRWEIT.

(A) T, TITI0F TwF S 8,08

(B) ST,T5208 &5T3edT 3,00

(C) BT T, BBCFS FOTOT 3,000

(D) SR,8¢0IRT03 T3S 8,08

Cuestion id : 44

B3 B980T 308,50 8,03030€, 9030 V3T (C)

CH.Br—REN ;4 HO |,
B LlA]er “‘C
(A) BARERE (B) S0eHeT

(C) BRI TT (D) G SLRLTIS

Cuestion id : 45
OORT BTYEOR 2T NF¥ ©R0TE WRCBEODD,
SRINT S0 r.?.::ii E‘aﬁ"; LROMONS [ IOCINRAT ?
(A) T > O-F, 7o > O—%&i@,&‘pmeﬁ
(B) O-33° < QT < O-FEIR, e’
(C) $TOY* < O-FTY* > O-FuR eQT*
(D) $TOY* < O-F T < O-FR,¢ JT*

Question id : 46

CINT FFTOW 3,0dRTITTRIY, UVTOTREN T3, B
OERTIOTTI, SOTTN UFRFAL T, NQ, ?
(A) DBFOCH cro,  (B) TR KMnO,

(C) $ORI0I0 BRETRE TR,

(D) 573 K 39 Cu Ze007t 520203530

Cuestion kd: 47
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48.

49,

50.

Cannizzaro’s reaction is an example of auto
oxidation
(A) It is a typical reaction of aliphatic

aldehyde.

(B) It is a reaction answered only by aromatic
aldehydes.

(O) It 1s a reaction answered by all aldehydes.

(D) It 1s a reaction answered by only aldehydes
containing a -hydrogen.

Lower members of aliphatic carboxylic acid
are soluble in water. This 1s due to

(A) Formation of hydrogen bonds with water.

(B) Van der-Waals interaction with water
molecules.

(©) Water is non electrolyte

(D) Due to London forces

Cuestion Id : 49

The correct order of increasing basic nature for
the bases NH,, CH,NH, and (CH;),NH in

aqueous solutions
(A) CH;NH, < NH; < (CH;),NH

(B) (CH,),NH< NH,< CH,NH,
(© NH,< CH,NH,< (CH;),NH
(D) CH,NH,< (CH,),NH< NH,

Question id : 50

48.

49.

50.

B9, eTRE 8,0300300 F OO YVFTEED §,0303 2.0T
VTIOHTT
(A) B3 3,090030 I, 35 AT ENEN FoWoRAT

(B) «, STREMRLT wORTTIHL S8 3,00
3 00RO )

(C) PR, LOFT 1iFd B3 8,000N T OLRITD

(D) o~ FERRTINTT, TROOTIT BOTF TN =N,
33 8,01t FoRRIS

Cuestion id : 48

dej—a 835° EZTF%@EE B, Z,ersod BeTY IOP)
Cove) mfa Q0T 'ﬁtﬁﬂbéﬁ fazjﬁ pleti)

(A) Neaa*im&ﬁ é@amaﬁ‘ 205333
BRRIZS

(B) DeOZR0QT SS0° s0¢F § ©0ZT° 8,030
(C) DETO DT, QZeRONBY,
(D) Q0TI WOT T2TR0T

Jghlol X

Question Id: 49

xOeod wowen® NH,;, CH;NH, =020

(CH;),NH a3n¢ mzoapeod oBmond 8o
350
(A) CH,NH, < NH, < (CH;),NH

(B) (CH,),NH< NH,< CH,NH,
(© NH,< CH,NH,< (CH,),NH
(@) CH,NH,< (CH,),NH< NH,

Cuestion i : 50
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51. The product formed during the following

reaction are

CH;
|
CH,- C —-O-CH;+HI—>"’

|
CH;

(A) CH3
|

|
CH,

(B) CH.
|
CH,I+CH,- C -OH

|
CH,

O CH;

|
CH, Ol+H,C- ¢ -H

|
CH,

(D) CHs;

|
CH;+H;C - C -0l

|
CH,

Cuestion id : 51

51, SYTOR OTROLAT  §,0000¢.  wvotRndE 3,030

m':% ab_j{ N

CH;
|
CH,— C —-O-CH;+HI—>?

|
CH;

@) CH;
|
|

CH,

®) CH;
|
CH,I+CH,- C -OH
|
CH,

© CH3

|
CH, OI+H,C- ¢ -H

|
CH,

(D) CH;

|
CH;+H;C - C -0l

|
CH,

Cuestion id ; 51
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92.

93.

55.

Reduction of ketones cannot be carried out

with which of the following reagents ?

(A) Sodium borohydride or Lithium Aluminium
hydride

(B) Zinc amalgam and concentrated HC

(O) Hydrazine and KOH 1n ethylene glycol

(D) Hydrogen in presence of palladium in
Barium sulphate and quinoline

Cuestion Id ; 52

Gabriel phthalimide synthesis is used in the
preparation of primary amine from
phthalimide, which of the following reagent 1s
not used during the process ?

(A) KOH (B) NaOH
(O) HCI (D) Alkyl Halides
The Glycosidic linkage present in sucrose is

between

(A) C—1 ofa-glucose and (C—2 ofB-
fructose

B) C—1 ofoa-glucose and C—-4 ofo-

glucose

(O C—1 ofp-galactose and C—4 ofo-
glucose

(D) C —1 of a-glucose and C — 4 of B-fructose

Cuestion Id ; 54

Hormones are secreted by ductless glands of
human body. Iodine containing hormone 1s

(A) Insulin (B) Thyroxine
(O) Testosterone (D) Adrenoline

Question Id : 55

52.

oJ:

95.

CIR: BYTOW 3,0INTITFRY WvTadReNR SeedRe’

NYEY, BTFLFAL TGl ?

(A) RRCRODO ﬁm%e%%a‘ Clarnillidlalevsle
BE,AVOD0 HF, &

(B) BOT° LaIRORF w08 T,WO  H(]

(C) PO 7§ 5o IQTOT H3, 28 w02 KOH

(D) TLROVOT WITRICNY, J[TERED T
23e00d0 A ees* W) 3RO

Question bd : 52
m@@iaﬁm‘?od rmzszg,fcdm* qmjd%w ROZeR T
NEODROT T, FPewT w@iﬁ@ S03R0ROWNn B8
BYFOT 3, 0IRFTTRI, WYRIROY,

(A) KOH (B) NaOH

(c) HCl (D) Eﬁf&i & mﬁazcs‘ neo
Question id: 53

ROBR,CRBQTOI 7§ BT R BESOIN

(A) @~ TRERETS (¢ _ 1 R R-PIRGAT (¢ — 7
Ny 280w

(B) q-TRERCET ( _ 1 30R -NRERETT ¢ _ 4
Ny 0w

© B-TRVEREAT (1 W o TIREREA'S
C _ 4 Tt BRI

@) o NRERRS ¢ — 1 T p-TFIRMT -4
ne I@0x

Question id: 54

TRITT TeBTATOT LTFY gielalate
TORBREFDNYIY, &,VROTS. 0odReRTI) TROOTIH
TORRCF T
(A) QROT

¥ 3 P
(©) ﬁ%@wﬁﬁfaﬂ‘

(B) O3
(D) B&IOF

Question kd : 55
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56.

of.

58.

59.

Pick the wrong statement from the following :
(A) Sources of Vitamin B, are yeast, milk,

green vegetables and cereals
(B) Deficiency of Vitamin B, (pyridoxime)
results in convulsions

(O) Consumption of citrus fruits and green leafy
vegetables in food prevents scurvy

(D) Deficiency of witamin D

xerophthalmia

Causcs

Cuestion kd : 56

The monomer used in Novolac, a polymer used
in paints
(A) Phenol and Formaldehyde

(B) Melamine and Formaldehyde
(O) Butadiene and Styrene
(D) Butadiene and Acrylo Nitrile

Which of the following is not a biodegradable
polymer ?
(A) Polyhydroxy butyrate — CO — B hydroxy

valerate
(B) pHBV
(O) Nylon 2-Nylon-6 (D) Glyptol

Cuestion Id : 58

Bactericidal antibiotics among the following 1s
(A) Ofloxacin (B) Erythromycin

(O) Tetracycline (D) Chloramphenicol

Question Id : 59

56.

57.

58.

59.

BITOBINGY, ST TePTODTY, MOTOSA.
(A) B3X, T, TATL TFO W e TN
PEINT® Blf‘&tbgtﬁ.

(B) NVWT B, BRUSC0T 33U RoBaE
GVOEINOTTI

(C) A8 TERNMWO TR TATY HGCINT STFON
N TN TREMEIRY, BTMes WBOTD

(D) WEXENT*- D ERTICID iﬁmm@oﬁa d’meﬁﬁa‘g{
GVOEIDTINRBOZT

Question Id : 56

Fe0WOEFNTY. WIFRT FeRUT TIXVT* IYTO
RAZRETOT® NTH
(A) PETC* TB FoRF OB T

(B) SRR’ B e OH
(C) WR,EDTOET® ) F 0¢T*
(D) LR, ERTF O’ T 58, Ae Feg F

Cuestion id : 57

F¢B0B 03R® DT z%e‘bﬁ NFPEN BROTDHDY ?

(A) ORWE WHTE  _co_ g RFY
v Sleld5
(B) PHBV

(O) JOT-2JOIT-6 (D) NP

Cuestion id : 58
B3 FTPIOR CINW  WeRITRPITR)

TOTFNG 2
(A) LTRIAT

(C) BRAZT

30,3 COCIT]
4 ed

(B) 0GR, AT
(D) BRETIOQVTIL?

Question id: 39
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60.

Pick the correct statement among the
following :
(A) Cetyl trimethyl ammonium bromide is a

popular cationic detergent used in air
conditioner

(B) Non-ionic detergents is formed when
polyethylene glycol reacts with adipic acid

(O) Sodium dodecyl benzene sulphonate used
in tooth paste is a cationic detergent.

(D) Sodium lauryl sulphate forms an insoluble
scum with hard water.

Cuestion Id : 60

60. TYTOTWRINYO, ROCINT 539,83, 0T TOTSA.

(A) TOTITBRONTY, JEIS* €3, 0TS &STREVOI0
23R faf%wﬁgt mmsﬁmﬁ ﬁaﬁwmaﬁf
SR FTIN LFRITIT.

(B) T HPOF* 1} 5o SRAT STRODN JEFA
SOIRAT VYT m'-;z:rﬁdm wowmméd.

{C) Nfafeﬁsojac zﬁm@é@ Uasiest A m\&wm LN
ri@é@ D) uodrmaf anm?ﬁmﬁ meémmo"

(D) Nmeﬁaocbo YL FTLEF NER QeOIROLN
BEFR 5000 ﬁsem'ﬁoo&eo SRR,

Cuestion i : 60
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